
 

3.94 hrs 

 

2 pcs 

f 

0.20 mm

k 

0.40 mm

h 

PLA

 

53 g 

d 

Sovol SV06 

Plus 

Summary

Modified the Original to Fit the SV06 Plus.

3D Printers >  Accessories 

Tags: camera  cameramount  webcam  webcammount  sovol  

sv06plus  sovolsv06plus  

SV06 Plus Front Camera Mount

Modified the Original to Fit the SV06 Plus. I thank “azlum” for his original

design.

Only the Front Plate part included. Use the original risers form the original

model. 

SV06 Front Cam Mount - Top.stl

Top Bracket - Revised.stl

 

TJL

SV06 Plus Front

Camera Mount

VIEW IN BROWSER

updated 22. 2. 2024 | published 22. 2. 2024 

• 

• 

https://printables.com/@TJL4
https://printables.com/@TJL4
https://printables.com/@TJL4
https://printables.com/model/773551-sv06-plus-front-camera-mount
https://printables.com/model?categoryId=1
https://printables.com/model?categoryId=40
#
#
#
#
#
#
#
https://www.printables.com/@azlum_370421
https://www.printables.com/@azlum_370421
https://www.printables.com/@azlum_370421
https://www.printables.com/model/593485-sv06-front-camera-mount/files#preview:file-tMM9o
https://www.printables.com/model/593485-sv06-front-camera-mount/files#preview:file-tMM9o
https://www.printables.com/model/593485-sv06-front-camera-mount/files#preview:file-GPwSV
https://www.printables.com/model/593485-sv06-front-camera-mount/files#preview:file-GPwSV


Model files

For the base, 2 Versions are posted.

SV06+ Front Cam Mount - Base-Hack

SV06+ Front Cam Mount - Base

I made the “Hack” first to be sure of the clearances. It has the bottom

Holes cut out to allow for the larger plate. The second fixes that issue, and

should be more secure. 

To attach the camera to the mount I use the Camera Bolt Holder-v3.stl 

or the Cam-Bolt-Holder-M6.stl form my Updated Generic Camera

Mount for SV06 & SV06+.

Additional Need Hardware

4 - M4 x 18 Screws (Socket or Button Head)

2 - M3 x 8 Screws Socket Head

1 - 1/4" x 3/4" Stainless Steel Hex Bolt

or

1 - M6-1.0 x 20 mm Hex Bolt

This remix is based on

SV06 Front Camera Mount 

by azlum 

• 

• 

• 

• 

• 

◦ 

• 

sv06-front-cam-mount-base.stl 

sv06-front-cam-mount-base-hack.stl 

https://www.printables.com/model/473942-updated-generic-camera-mount-for-sv06-sv06/files#preview:file-xOiOW
https://www.printables.com/model/473942-updated-generic-camera-mount-for-sv06-sv06/files#preview:file-xOiOW
https://www.printables.com/model/473942-updated-generic-camera-mount-for-sv06-sv06/files#preview:file-Qjph2
https://www.printables.com/model/473942-updated-generic-camera-mount-for-sv06-sv06/files#preview:file-Qjph2
https://www.printables.com/model/473942-updated-generic-camera-mount-for-sv06-sv06/files
https://www.printables.com/model/473942-updated-generic-camera-mount-for-sv06-sv06/files
https://www.printables.com/model/473942-updated-generic-camera-mount-for-sv06-sv06/files
https://www.printables.com/model/473942-updated-generic-camera-mount-for-sv06-sv06/files
https://printables.com/model/593485-sv06-front-camera-mount
https://printables.com/@azlum_370421


Print files

h PLA  k 0.40 mm  f 0.20 mm   3.94 hrs   52 g  

h PLA  k 0.40 mm  f 0.20 mm   3.51 hrs   46 g  

License 

This work is licensed under a 

Creative Commons (4.0 International License)

Attribution-NonCommercial 

✖ | Sharing without ATTRIBUTION 

✔ | Remix Culture allowed 

✖ | Commercial Use 

✖ | Free Cultural Works 

✖ | Meets Open Definition 

sv06-front-cam-mount-base_02mm_pla_sv06-plus_3h56m.gcode 

sv06-front-cam-mount-base-hack_02mm_pla_sv06-plus_3… .gcode 

http://creativecommons.org/licenses/by-nc/4.0/
http://creativecommons.org/licenses/by-nc/4.0/
http://creativecommons.org/licenses/by-nc/4.0/
http://creativecommons.org/licenses/by-nc/4.0/
http://creativecommons.org/licenses/by-nc/4.0/
http://creativecommons.org/licenses/by-nc/4.0/

	SV06 Plus Front Camera Mount
	Summary
	SV06 Plus Front Camera Mount
	Additional Need Hardware


	This remix is based on
	SV06 Front Camera Mount

	Model files
	sv06-front-cam-mount-base.stl
	sv06-front-cam-mount-base-hack.stl

	Print files
	sv06-front-cam-mount-base_02mm_pla_sv06-plus_3h56m.gcode
	sv06-front-cam-mount-base-hack_02mm_pla_sv06-plus_3… .gcode

	License
	Attribution-NonCommercial



